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BBEJIEHUE

OOyyeHue WHOCTPAaHHOMY $I3BIKY SIBJISIETCS COCTaBHOM 4acThlO Ipolecca
MOJIFOTOBKY CTIEIHUATINCTa, KOTOPBIN OJKEH aKTUBHO BIAJECTh WHOCTPAHHBIM SI3BIKOM
KaK CpeICTBOM OOIIEHUS B TMOBCEAHEBHONM JKM3HU U B NpodhecCHOHATBHOM
aestensHOCTH. [lpu 3a0uHO¥ Gopme 0Oy4eHHH B HES3BIKOBBIX KOJUIEIKAX BIAJCHHUE
AHIJIMHACKUM S13bIKOM O3HAYaeT:

- YMEHHE CaMOCTOSITEIbHO YHTATh CO CIOBAapeM JHUTEpaTypy OOIMIeObITOBOTO XapaKkTepa
U 10 CHEUANTbHOCTU NPOQPUIIS C TEM, YTOOBI HA OCHOBE MPUOOPETEHHBIX B BY3€ 3HAHUH,
YMEHUN W HaBBIKOB H3BJICKATh M3 HEE IMOJIHYI0 M HYXHYIO HHGOpPMALUIO U TIpH
HEOOXOAMMOCTH TIEPEBOIUTH TEKCTHI HA POIHOMN SI3BIK;

- YMEHHE CJellaTh MOHOJIOTHYecKoe coobmieHne B pazmepe 18-20 ¢pa3 Ha Bce TeMBbI
001Ie0BITOBOTO XapakTepa, MpeyCMOTPEHHbIE MPOTPAMMON;

- YMEHHME BecTH Oeceqy aAuanor Ha 0a3e u3yueHHbIX TeM B o0beme 9-10 ¢pas co
CTOPOHBI 000UX COOECETHUKOB;

- yMEHHE BBINOJHATH THCHMEHHBIC 3aJaHusd Ha 0a3e M3YYCHHOTO JIEKCHKO-
rpaMMaTHYeCKOTO MaTepHaia.

OobsacTh NPUMEHEHUS TIPOrPAMMBbI

PabGouass mporpamma ydeOHOW JMCIUIIIIMHBI SIBJSETCS YacThO OCHOBHOMU
0o0pa3oBaTeIbHON MPOrpPaMMBI. CPEIHETO TPOQPECCHOHATBLHOTO 00pa30BaHUs  TO
MOATOTOBKE CIEIMAIMCTOB CpelHero 3BeHa mno cneruanbHocT  08.02.09 MonTtax,
HajgaJKa M OKCIUTyaTamus 3JICKTPOOOOPYIOBaHHS TMPOMBIIUICHHBIX M TI'pPakKIaHCKHX
3maHuil (6a3oBas MOJATOTOBKA).

MecTo OMCHUIUVIMHBI B CTPYKType OCHOBHOII 00pa3oBaTe/IbHOW NPOrpaMMbl:
yuyeOHasi JUCHUIUIMHA OTHOCUTCS K 00lIeMy TyMaHUTapHOMY W  COLMAIBHO-
SKOHOMHUYECKOMY ITUKITY OCHOBHOM MpodecCHoHaIbHON MTPOTPAMMBI.

Hean u 3a1a4n JUCHUILIUHBI — TPEOOBAHUS K YPOBHIO YCBOEHHSI CO/IePKaHUSA
AUCIHUTTHHBI

B pesynbTaTte 0cBOEHUS TUCIUTUTHHBI 00YJaIONTUIICS JOIKEH YMETh:

- OCO3HaBaTh, pPACMO3HaBaTh M CO3/1aBaTh COOCTBEHHbIC AJITOPUTMBbI MPOJYKTHBHOMN
y4eOHOM IeSITENHHOCTH MO U3YYEHUIO HHOCTPAHHOTO SI3bIKA;

- BBIIENATH TJIABHOE B TEKCTaX HA HWHOCTPAHHOM S3bIKE M HWHTEPIPETUPOBATH
MIPOYUTAHHOE;

- IPUMEHSTh JJOTUYECKUE TPUEMBI MBIILICHUS (aHATIOTHs, CPaBHEHUE, aHAJIN3, CUHTE3);

- aJICKBaTHO OCYILIECTBIISITh CaMOOIIEHKY M CaMOKOHTpOJIb (10, B XOJ€ U TOCIie
BBITIOJTHEHUS Pa0OThI);



- IPEJICTABIIATH PE3YJIbTaThl PA0OTHI B YI0OHOU A BocHpusiTUs hopme.

8 npeOMemHouU 0o1acmu.

- BJIaJIETh JIGKCUYECKUM MUHUMYMOM B 00bEéMe 1200-1400 nekcuyeckux eIuHMUII;

- YMETh Paclio3HaBaTh OCHOBHBIC TPAMMATUYECKHE KOHCTPYKIIMH MIPU pabOTe C TEKCTOM
(BpemeHa, 3ajord, THUIIBI BOIMPOCOB, MOJAJIbHBIC TJArojibl, COTJIACOBAHHE BPEMEH,
HETUYHbIe (POPMBI IJ1aroja, cociararelibHoe HaKJIOHCHHE);

- YMETh cJlieJIaTh MUChbMEHHBIN MEPEBOJT TEKCTa HA PYCCKUMN SI3BIK;

- yMeTh BecTu Oeceay ¢ MpernojaBarelieM Ha TEeMbl, ONpeaesIEHHbIC MporpamMmon (He
MeHee 8-10 BompocoB 1 OTBETOB);

- TOHUMATh Ha CIyX MHOS3BIYHYIO peUb B MPEIbIABICHUU MPENOAaBaTelis UIN B 3aIKCH,
MMOCTPOCHHYIO Ha U3YYEHHOM MaTepuale;

- BOCIIPUHUMATh CMBICTIOBYIO CTPYKTYPY TEKCTa;

- pacro3HaBaTh 3HAYEHUS CJIOB M0 KOHTEKCTY;

- BBIJICTISITH IJIaBHYIO M BTOPOCTETNICHHYIO0 HH(POPMAITHUIO;

- YMETh MEePEBECTH HE3HAKOMBIN TEKCT CO CJIOBAPEM;

- UHTEPIIPETUPOBATH COJIEPKAHUE MPOYUTAHHOTO TEKCTa (Ha PYCCKOM SI3BIKE);

- yMeTh paboTaTh CO CIOBAPEM;

- YMETh BBITIOJTHUTE KOHTPOJIbHYIO PabOTy Ha aHTJIMUCKOM SI3BIKE M TMPEJICTAaBUTH B
yIOOHOM JJ1s1 IPEeAbSIBICHUS MperoaBaTeiito Gopme.



VYuebnas gucuuminaa OI'C3.03. MHocTpaHHBIN S3bIK (QHTMIMHCKHI) CIOCOOCTBYET
(OpMHUPOBAHUIO 0OIIMX KOMIIeTeHIIHIi:

Kon HaunMmeHoBanmne o01IIMX KOMIETEHIIH I

Beibupatb  cnocoObl  pemeHuss  3a4ad  NPOQPECCHOHATLHOMN
NEeATENbHOCTH TPUMEHUTENBHO K Pa3IMYHBIM KOHTEKCTaM.

OK 1.

OcymiecTBisATh MOHUCK, aHAJIW3 M HUHTEpIpeTanuio UHOOpMaIuy,
OK 2. | HeoOxomumoW  Jyisi  BBINOJHEHUS  3aJad  NPOQPECCHOHATBHON

JIEITEIILHOCTH.

OK 3 [InanupoBaTh M peasu30BBIBATH COOCTBEHHOE NpodeccHoHaIbHOE U
" | IMMHOCTHOE pa3BUTHE.

OK 4 PabGoTraTh B KOJUIEKTUBE U KOMaH/e, 3O PEKTUBHO B3aUMOICHCTBOBATH
" | ¢ KOoJUIeTaMH, PYKOBOJCTBOM, KIIMEHTAMHM.

OK 9 Hcnons3oBaTe MHAGOPMAIIMOHHBIE TEXHOJIOTUH B TPOQecCHOHATLHON
" | IeSITeNbHOCTH.

OK 10 Ilomp30BaTeCcs npodecCuoHaTbHON JIOKyMEHTaILUEN Ha

roCyaapCTBCHHOM XM MHOCTPAHHOM A3bIKAX.




I METOANMYECKHUE YKA3AHUA

KontposbHnas pagora Ne 4 (uerBepThblii Kypc). UTOOBI MPaBUIBHO BBITIOJIHHUTH
KOHTpOJbHOE 3ajaHue Ne 4, HE0OXOAMMO YCBOMTH CIEAYIOIIME pa3fenbl Kypca
AHIJIMHCKOTO sI3bIKa:

1. Paznen 3. BBoaHbli Kypc npoecCuOHAIbHOTO AHTIIUICKOTO S3bIKA.

Tema 3.2. JlenoBoy anrnwmiickuii. Pabora ¢ Tekcramu «Preparation for studies
abroad» «Covering letter» «Searching a job», a Takke BBITIOJHEHHE JIEKCUKO-
IrpaMMaTHYECKUX YIPaKHEHUH.

Tema 3.3. HayuHo-TexHuueckuii nporpecc. Pabora ¢ Tekcramu- «Business trip»,
«Currency Exchangey, a Takke BBITIOJHEHUE JIEKCUKO- IPAMMAaTHUYECKUX YIPAKHEHU.

PabGoTta mo M3y4yeHHIO MOJAIBHOCTH TJIAroJIOB AHIJIMMCKOTO $3bIKa, BBIMOJHEHUE
TPEHUPOBOYHBIX YITPAKHEHU.

Tema 3.4. CunoBsle uctounuku. Pabora ¢ texcramm- «Power sources», «Logic

CIrCUitS», BBIIOJHEHHE TEMATUHYCCKHUX JIEKCUKO- IPAMMATHYCCKUX YIIPAKHCHHIA.

2. Paznen 4. IlpodeccroHanbHO- HANTPABICHHBIA MOIYJIb.

Tema 4.1.2nekTpuucckue npuOopsl U nMpoduibHas TexHUKa. PaboTa ¢ TekcTaMu-
«Thermionic valves», «The tetrode and pentode», «The P-N junction», a Ttakxe
BBITTOJTHEHHUE JIEKCHKO - TpaMMaTHYECKUX yrnpaxHeHuil. PaboTa ¢ npodeccrnoHaibHbIM
HepEeBOJIOM TEKCTA.

Tema 4.2. DnexTpu4ecTBO U COBPEMEHHOCTh. KOMIIBIOTEpHBIE TEXHOJOTHH.
M3yueHne JeKCUKO - FPaMMaTHYECKOT0 MaTepHaia.

Tema 4.3. DnekrpoodopynoBanue. Pabora ¢ Tekcrom- «The bipolar transistory, a
TaKke  BBIIOJTHEHHWE JIGKCHMKO - TIpaMMaTHYecKuX ynpaxHeHuid. Pabora ¢
npodecCcHoHaIbHBIM IIEPEBOAOM TEKCTA.



2 BBITIOJTHEHUE 11 O®OPMJIEHUE KOHTPOJILHBIX 3AJAHUI

VYcnoBueM 1onycka K 3a4eTy sIBASETCS BBIITOJIHEHHE KOHTPOJIbHON padboThl Ne 4.

Llenp KOHTPOJIBHBIX 3aJlaHUd — OKa3aTb MOMOUIb OOyYaloleMycsi B €ro
CaMOCTOAITENIbHOM paldoTe, a TakXe MPOBEPUTh CTENEHb YCBOEHUS WM Y4YEOHOro
Marepuaia, HAYUTAaHHOTO 3a JaHHBIA CEMecCTp.

KonTponeHoe 3aganume B JnaHHOM mnocobuu mnpeiaraerca B 10 BapuaHTax.
OOyyaromuics JOJKEH BBIIOJHUTD OJWH U3 JAECATH BAPUAHTOB KOHTPOJIBHOT'O 3aJaHUS.
Howmep BapuanTa BbeiOMpaeTcs no nepsoit Oykse pamuinnu odyyaromerocs no Tadauue:

Bysoa | o Byxsa sapwantron
AL X 1 E, P, 111 6
B, M, 11 2 K, C, D 7
B,H, U 3 3,T, 10 8
r,0,V 4 nyv, 9
T, 10, 110 5 K, ® 10

Odopmienre TUTYTBLHOTO JIUCTA (IPHIIOKEHHE A).

KonTtponbsHas pabora noJKHA OBITh HAlKMCaHa B TETPAAM YETKUM, MOHSITHBIM
nouepkom, 6e3 ucrpanieHuil. Ha ctpanuiiax paboThl clie/lyeT OCTaBUTh oS (3 cM) st
MOMETOK U 3aMEYaHHI MPOBEPSIOIETO MPENOAaBaTEeIIs.

JleBas cTpaHuna IIpaBas crpanuna

ITons\ TekerT 3amanus Brimnosinenue 3aganus\ [ons

OOyuaromeMycsi clefyeT NEepBBbIA JHUCT B TETPAJU OCTABUTH UUCTBIM IS
HalMCaHMs 3aME€YaHUM IIPENoJaBaTesl.

[Ipu BeImONHEHMHM PAOOTHI ClIEyeT CHadaia yKa3blBaTh 3aJaHus KOHTPOJIBHOU
paboThI, a 3aTeM camo BHITIOJIHEHUE 3a/IaHUS.

BrimosiHeHHYI0 KOHTPOJIBHYIO pPab0oTy OOydaromuiicss JODKEH OPEICTaBUTh
[penojaBaTea0 JUis NPOBEPKU 3a JIB€ HEAeAu 10 JabopaTOpHO-3K3aMEHAIMOHHOMN
CECCHH.

JlaeTcst oOmias olleHKa «3adTeHa» WM «HE 3auTeHay. Ecnmu pabora He 3a4yTeHa, B
HEee HEO0OXOAMMO BHECTHM COOTBETCTBYIOIIME HCIPABICHUS C YYE€TOM CJEIAHHBIX
3amedanuid. [loBTOpHas mpoBepka pabOTBI OCYIIECTBISIETCSA, KaK MPaBUIIO, TEM Ke
npenojaBaTeyeM, KOTOPBIM peleH3upoBal €€ B MepBbld pa3. OOydaromiuecs, He
BBITIOJIHUBIIINE KOHTPOJIbHYIO pabOTy WM HE MOJY4YUBIIKE 3a4eTa M0 HEl, K 3a4eTaM He
JOITyCKAIOTCS.




3 KOHTPOJIbHOE 3AJTAHUE Ne 4

Bapmuanr 1

1. Translate into English. Make five sentences using the translated
collocations and any of the modal verbs (can\must\may\need).

Russian English

PabdorHuku

OCI)I/IL[I/IaJIBHaH BBIITMCKA U3 JUIIJIOMa

OCI)I/IL[I/IaJIBHaH KOIIHA JUIljioMa

PCeKiIaMa

npodeccroHaIbHbIN

MECTOHAXOXKJIeHHE (PUPMBI

oOpa3oBaHue

KOMUTCT I10 JIMIOCH3UAM

2. Read the text and translate in written form. |

An electromotive force is induced in the conductor when there is a change
in the magnetic field surrounding a conductor. This induced electromotive force
may be produced in several ways as follows:

a. A conductor may move in a stationary magnetic field of constant strength.

b. A stationary conductor may be exposed 'to a moving magnetic field of constant
strength.

c. The strength of the field surrounding the conductor may change without any
motion of conductor or magnetic circuit.

The electromotive force induced by motion of a conductor or a magnetic
flux is the same when the conductor rotates and the flux is stationary or the flux
rotates and the conductor is stationary. If both, conductor and flux, rotate in the
same direction at the same speed, no electromotive force will be produced, if they
rotate at the same speed but in opposite directions, the electromotive force
induced would be twice as that which would be induced, if one of them was
stationary. An electromotive force is not induced when a conductor is moved
parallel to the lines of force, but only when it moves at an angle with these lines.

Any motion across the direction of the lines, however, will produce an
electromotive force in the conductor. For this reason, the conductor is said to
«cut» the lines of force. The actual electromotive force induced in the conductor
depends upon the nature at which the flux is cut.

The electromotive force is the very force that moves the electrons from one
point in an electric circuit towards another. In case this e. m. f. is direct, the
current is direct. On the other hand, were the electromotive force alternating, the
current would be alternating, too. The e. m. f. is measurable and it is the volt that

9



Is the unit used for measuring it. A current is unable to flow in a circuit consisting
of metallic wires alone. A source of an e. m. f. should be provided as well. The
source under consideration may be a cell or a battery, a generator, a thermocouple
or a photocell, etc.

In addition to the electromotive force and the potential difference reference
should be made to another important factor that greatly influences electrical flow,
namely, resistance. All substances offer a certain amount of opposition, that is to
say resistance, to the passage of current. This resistance may be high or low
depending on the type of circuit and the material employed. Glass and rubber offer
a very high resistance and, hence, they are considered as good insulators. All
substances do allow the passage of some current provided the potential difference
is high enough.

Certain factors can greatly influence the resistance of an electric circuit.

They are the size of the wire, its length, and type. In short, the thinner or
longer the wire, the greater is the resistance offered.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

Tpenue

QJICKTPOABMIKYIIIAA CHUJIA

OJICMCHT

MapaajICIIbHOC COCANHCHUC

COIIPOTHBJICHHUC

QJICKTPOMAaruuTHasA MHAYKIWA

IIEPEMEHHBINA TOK

ITOCTOAHHOC HAIIPAKCHUC

dboTodIeMEHT

4. Guess the meaning of the following international words and translate
them.

Reaction- ...
Electrostatic-...
Electrometer-...
Electroscope-...
Volt-. ..
Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. Alternating force always exerts its effort in one direction.

2. Alternating force is produced by electromagnetic induction.

3. The electromotive force is induced by motion of a conductor.

4. Resistance is an important factor that greatly influences

10



electrical flow.

5. The type of the material employed doesn’t influence the
resistance.

6. Answer the questions:

1) What factors cause the motion of electrons from one atom to another?

2) When is the electromotive force developed?

3) When does an electrostatic field appear?

4) How is the electromotive force induced?

5) What unit is used for measuring the electromotive force?

BapuanTt 2

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

TpebGoBaHus K MOCTyHaONIUM

OIIBIT

JOKYMEHT

AHKETHBIN OJIAaHK

KypHaJIbI

HaBBbIKH1

(i)I/IHaHCOBa}I IIOMOIIIb

OCCHHUM CCMCCTP

2. Read the text and translate in written form. |

The powerful, highly efficient generators and alternators that are in use
today operate on the same principle as the dynamo invented by the great English
scientist Faraday in 1831. Dynamo-electric machines are used to supply light, heat
and power on a large scale. These are the machines that produce more than 99.99
per cent of the entire world's electric power.

There are two types of dynamos — the generator and the alternator. The
former supplies d. c. which is similar to the current from a battery and the latter
provides a. c. To generate electricity both of them must be continuously provided
with energy from some outside source of mechanical energy such as steam
engines, steam turbines or water turbines.

A generator is an electric machine, which converts mechanical energy into
electric energy. There are direct-current (d. c.) generators and alternating current
(a. c.) generators. Their construction is much alike. A d. c. generator consists of
stationary and rotating elements. The stationary elements are: the yoke or the
frame and the field structure. The yoke forms the closed circuit for the magnetic
flux. The function of the magnetic structure is to produce the magnetic field.

The rotating elements are: true armature and the commutator. They are on
the same shaft. The armature consists of the core and the winding. The winding is

11




connected to the commutator. With the help of the brushes on the commutator that
conduct the electric current to the line the winding is connected to the external
circuit. The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
C. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating e. m. f. so that it is always of the same polarity.

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

MoutHoCTb

HHU3KadA CMKOCTb

CTaHHOHapHLIﬁ QJIEMCHT

Bpalmaromuccsa 3JICMCHTBI

reHEepaTopPhbl

JIBa TUIA\BUIA

C-)JIGKTpI/I‘{eCKI/Iﬁ TOK

pa3HUIA MEXKITY

CTaTop

4. Guess the meaning of the following international words and translate
them.

System- ...
Electrolytic -...
Electrometer-...
Electroscope-...
Generator-...
Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences B\

1. There are five types of dynamos.

2. A generator is an electric machine.

3. The rotating elements are: true armature and the commutator.

4. It also finds rather extensive use in connection with each
system.

5. D. c. generators are used for electrolytic processes such as

12



| electroplating.

6. Answer the questions:

1) What types of dynamos do you know?

2) What are dynamo-electric machines used to?

3) What does the armature consist of?

4) What type of a machine is the generator?

5) What do you know about the commutator?

BapuanT 3

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

CIMcok QUCIMILUINH

IMPpUCM B Ka4YCCTBC CTYACHTA

CAaTb 3K3aM€H

AHKETHBIN OJIAaHK

MpCaACTAaBUTHL PE3IOMC

OAPOOHBIC TaHHBIC

3apa60TaTL MHOTI'O ACHCT

pabounii 1eHb

2. Read the text and translate in written form. |

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems. There
are two types of dynamos — the generator and the alternator. The former supplies
d. c. which is similar to the current from a battery and the latter provides a. c. To
generate electricity both of them must be continuously provided with energy from
some outside source of mechanical energy such as steam engines, steam turbines
or water turbines.

The powerful, highly efficient generators and alternators that are in use
today operate on the same principle as the dynamo invented by the great English
scientist Faraday. Dynamo-electric machines are used to supply light, heat and
power on a large scale. These are the machines that produce more than 99.99 per
cent of the entire world's electric power.

The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
C. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating e. m. f. so that it is always of the same polarity. A generator is an
electric machine, which converts mechanical energy into electric energy. There

13




are direct-current (d. c.) generators and alternating current (a. c.) generators. Their
construction is much alike. A d. c. generator consists of stationary and rotating
elements. The rotating elements are: true armature and the commutator. They are
on the same shaft. The armature consists of the core and the winding.

The winding is connected to the commutator. With the help of the brushes
on the commutator that conduct the electric current to the line the winding is
connected to the external circuit.

The stationary elements are: the yoke or the frame and the field structure.
The yoke forms the closed circuit for the magnetic flux. The function of the
magnetic structure is to produce the magnetic field.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

DJIEKTPAYECKUMN TOK

aBTOMOOWJILHBIN I'€HEPATOP

o0ecreuynuTh

Bpalmaromuccsa 3JICMCHTBI

pama

MCXaHNUYCCKasA SHCPIUA

QJICMCHTBI

IMponcCcC NMpOnU3BOACTBA

MAarHUTHBIN

4. Guess the meaning of the following international words and translate
them.

Electroscope - ...
Process -...
Metallic -...
Energy -...
Elements -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences H\E)

1. The stationary elements are: the yoke or the frame and the
field structure.

2. There are two types of dynamos — the generator and the
alternator.

3. Dynamo-electric machines are used to supply mass, heat and
power on a large scale.

4. A generator is not an electric machine.

5. The rotating element is called a rotor.
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6. Answer the questions:

1) What do you know about the commutator?

2) What does the armature consist of?

3) What types of dynamos do you know?

4) What are dynamo-electric machines used to?

5) What type of a machine is the generator?

BapuanT 4

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

CIHMCOK TUCIMIUINH

y‘I€6HOG 3aBCIACHUC

0000111eHHE CBEACHUI

oriata

3ajBJICHHUC-aHKCTA

KOHTAKTHhI

noaxos1ias pabora

HaACKHOCTDH pa6OTHI/IKa

2. Read the text and translate in written form. |

Ammeters and voltmeters are made to operate on the same principle. The
two principle kinds are the moving coil and moving iron types.

The electro-magnetic effect of the current is the one chiefly made use of for
measuring purposes. Moving iron instruments employ this effect. The moving-
iron instrument consists of a fixed coil of wire carrying the current which
magnetizes a small piece of soft iron mounted on the instrument spindle. In
construction there are two varieties: the repulsion type having two pieces of iron;
and the attraction type having only one.

In the attraction type of the instrument the bobbin carrying the wire is
oblong instead of circular, and has only a narrow slot-shaped opening in the
center.

A thin flat piece of iron, which is mounted on the instrument spindle, is
sucked into this opening by magnetic attraction when the current flows. Either
gravity or spring control can be used on moving-iron instruments and damping is
usually by means of an air-dash-pot.

A moving-coil instrument may be compared to a miniature direct-current
motor in which the armature never moves more than about a quarter of a
revolution.
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When a current flows through the coil of a moving-coil type ammeter, it
becomes a magnet, one face being of north, and the other of south polarity.

These poles are attracted by the poles of opposite polarity of the permanent
magnet, and the coil tends to turn until its axis is parallel with the line joining the
pole pieces of the permanent magnet. This movement is proportional to the
current flowing and is opposed by the control springs. A pointer fixed to the coils
moves over a graduated scale and indicates the current flowing in amperes. The
scale of this type of instrument is evenly divided, but the positive terminal must be
connected to the positive terminal of the supply or the instrument tends to read
backward. Such an instrument is only suitable for d. c. circuits.

Moving-coil instruments are more accurate and sensitive, but more

expensive than those of moving-iron types.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian

English

ToT ke IpUHIUIT

)Kese30\ Kee3HbIN

AJIEKTPUYECKUU TOK

MaJICHbKUM KYCOYCK

TI/II'[\pa?)HOBI/I,ZIHOCTI)

UHCTPYMEHT

IMOJIAPHOCTD

MMOCTOSHHBINA

MOAXOIUTD JUIA

4. Guess the meaning of the following international words and translate

Type - ...
Permanent -...
Metallic -...
Energy -...
Indicate -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences

(H\0)

miniature direct-current motor.

1. A moving-coil instrument may not be compared to a

wire is not oblong instead of circular.

2. In the attraction type of the instrument the bobbin carrying the

opposed by the control springs.

3. This movement is proportional to the current flowing and is
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4. Moving-coil instruments are more accurate and sensitive.

5. A pointer fixed to the coils moves over a graduated scale and
indicates the current flowing in amperes.

6. Answer the questions:

1) What are the two principle kinds of ammeters and voltmeters?

2) What is the construction of a moving iron instrument?

3) What are the two types of moving iron instrument?

4) How does a moving coil instrument work?

5) What instrument is suitable only for d.c.?

BapuanT 5

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

JlononauTtensHas nHGopmanus

oriata

00BSIBJICHHUS O IPUEME Ha paboTy

PCKOMCHOAINA

ciyx0a TpynoycTpoiicTBa

MEIUILIMHCKOE 00CIIEIOBAHNE

paspernieHue Ha padoTy

JIMYHBIN JTUCTOK

2. Read the text and translate in written form. |

The electromotive force is the very force that moves the electrons from one
point in an electric circuit towards another. In case this e. m. f. is direct, the
current is direct. On the other hand, were the electromotive force alternating, the
current would be alternating, too. The e. m. f. is measurable and it is the volt that
IS the unit used for measuring it. A current is unable to flow in a circuit consisting
of metallic wires alone. A source of an e. m. f. should be provided as well. The
source under consideration may be a cell or a battery, a generator, a thermocouple
or a photocell, etc.

The electromotive force induced by motion of a conductor or a magnetic
flux is the same when the conductor rotates and the flux is stationary or the flux
rotates and the conductor is stationary. If both, conductor and flux, rotate in the
same direction at the same speed, no electromotive force will be produced, if they
rotate at the same speed but in opposite directions, the electromotive force
induced would be twice as that which would be induced, if one of them was
stationary. An electromotive force is not induced when a conductor is moved
parallel to the lines of force, but only when it moves at an angle with these lines.

An electromotive force is induced in the conductor when there is a change
in the magnetic field surrounding a conductor. This induced electromotive force
may be produced in several ways as follows:

17




a. A conductor may move in a stationary magnetic field of constant strength.

b. A stationary conductor may be exposed ‘to a moving magnetic field of constant
strength.

c. The strength of the field surrounding the conductor may change without any
motion of conductor or magnetic circuit.

In addition to the electromotive force and the potential difference reference
should be made to another important factor that greatly influences electrical flow,
namely, resistance. All substances offer a certain amount of opposition, that is to
say resistance, to the passage of current. This resistance may be high or low
depending on the type of circuit and the material employed. Glass and rubber offer
a very high resistance and, hence, they are considered as good insulators. All
substances do allow the passage of some current provided the potential difference
is high enough.

Certain factors can greatly influence the resistance of an electric circuit.

They are the size of the wire, its length, and type. In short, the thinner or
longer the wire, the greater is the resistance offered.

Any motion across the direction of the lines, however, will produce an
electromotive force in the conductor. For this reason, the conductor is said to
«cut» the lines of force. The actual electromotive force induced in the conductor
depends upon the nature at which the flux is cut.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

ITepeMeHHBIN TOK

ITOCTOAHHOC HAIIPAKCHHUC

QJIEMCHT

IMapaajICIIbHOC COCANHCHUC

COINPOTHUBIICHUE

dhoTOdIEMEHT

TPEHUE

QJICKTPOABMIKYIIAA CHUJIA

QJICKTPpOMAaruMTHasA MHAYKIWA

4. Guess the meaning of the following international words and translate
them.

Conductor - ...
Electrostatic-...
Electrometer-...
Electromotive -...
Reactor-...
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| Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences (H\(0)

1. Resistance is an important factor that greatly influences
electrical flow.

2. The type of the material employed doesn’t influence the
resistance.

3. The electromotive force is induced by motion of a conductor.

4. Alternating force always exerts its effort in one direction.

5. Alternating force is produced by electromagnetic induction.

6. Answer the questions:

1) What are the sources of electromotive force?

2) When 1s the electromotive force developed?

3) What is called “resistance”?

4) How do the types of circuit and material influence the resistance?

5) Name the factors that influence the resistance.

Bapuanr 6

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

PykoBOJCTBO (TM€4aTHOE M3AHUE)

IIPUEM B KQUECTBE CTYJICHTA

HaBBbIKHU

IpOBEpKa

IpEAIIPUHUMATEIIN

ydeOHOe 3aBeJICHUE

9K3aMCH I10 BOXKACHHIO ABTOMOOMIIS

0OBSIBIICHUS O TIpUEeMe Ha paboTy

PEKOMEH AU

| 2. Read the text and translate in written form. |
An induction motor like any other motor consists of a stationary part, the
stator, and a rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
conductors are the result of voltage induced in the rotor in the magnetic field set up
by the stator. The rotor is fitted with a set of conductors in which currants flow. As
these conductors lie in the magnetic field produced by the stator, a force is exerted on
the conductors and the rotor begins to revolve. The operation of the motor depends
upon the production of a rotating magnetic field. The speed at which the field of an
induction motor turns is called the synchronous speed of the field or of the motor.
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The induction motor is the simplest of the various types of electric motors and it
has found more extensive application in industry than any other type. It is made in
two forms — the squirrel cage and the wound rotor, the difference being in the
construction of the rotor.

The stator of the induction motor has practically the same slot and winding
arrangement as the alternator and has the coils arranged to form a definite number of
poles, the number of poles being a determining factor in connection with the speed at
which the motor will operate. The rotor construction, however, is entirely different.

The squirrel-cage rotor is a simpler form and has been used in many machines.
Instead of coils the winding consists of heavy copper bars.

The wound-rotor type has a winding made up of well-insulated coils, mounted in
groups whose end connections are brought out to fill in rings. The purpose of this
winding is to provide for variation in the amount of resistance included in the rotor
circuit.

Provision for ventilation is made by leaving passageways through the core and
frame, through which air is forced by fan vanes mounted on the rotor. In main cases
the motors now built in as an integral part of the machine it is to drive.

There being no electrical connection between the rotor circuits of the induction
motor and the stator circuits, or supply line, the currents which flow in the rotor bars
or windings correspond to the induced voltages, the action being similar to that of a
transformer with a movable secondary. With but a single phase winding on the stator,
however, the torques produced in the two halves of the rotor would be in apposition,
and the motor would not start. With more than one set of windings two for a two-
phase motor, three for a three-phase motor a resultant field is produced which has the
effect of cutting across the rotor conductors and induces voltages in them. This field
Is considered to be revolving at uniform speed.

The term “revolving field” should not be taken to mean actual revolution of flux
lines. The magnetic field from the coils of each phase varies in strength with changes
in current value but does not move around the stator. The revolutions are those of the
resultant of the three, or two, phases, as the case may be.

A motor with a single-phase winding is not self-starting but must be provided with
an auxiliary device of some kind to enable the motor to develop a starting torque.
The effect of the revolving field is the same as would result from actual revolution of
a stator having direct-current poles. As voltages have been induced in the bars or
windings of the rotor, currants start flowing as a result of these voltages, and a torque
Is produced which brings the motor up to speed.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

NHAyKIIMOHHBIN MOTOD

CTanrMOHapHasa 4aCTb

MardmMTHOC I10JIC

dakTop

MOTOD

pa3BHUBATH
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oTjaenbpHas ¢aza

HaIpSKCHHE

CKOPOCTh\ YCKOPEHHUE

4. Guess the meaning of the following international words and translate them.

Rotor - ...
Electrolytic -...
Actual -...
System -...
Voltage-...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences

(H\0)

1. An induction motor like any other motor consists of a stationary
part, the stator, and a rotating part, the rotor.

2. The operation of the motor does not depend upon the production
of a rotating magnetic field.

3. The wound-rotor type has a winding made up of well-insulated
coils, mounted in groups whose end connections are brought out to
fill in rings.

4. The rotor of an induction motor-is not connected electrically to
the source of power supply.

5. The effect of the revolving field is the same as would result from
actual revolution of a stator having direct-current poles.

6. Answer the questions:

1) What is an induction motor?

2) Is the rotor fitted with a set of conductors in which currants flow.?

3) What parts does the induction motor consist of?

4) What are the names of its rotating and stationary parts?

5) What does the motor operation depend on?

Bapuanr 7

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

Paszpemnienune Ha padboty

MPEJICTABUTH PE3IOME

OCEHHHI CEMECTP

poheCCHOHAIBHBIN OTIBIT

JIMYHBIC Ka4CCTBA

paboyuii OMbIT
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¢dbrHaHCOBasi TOMOIIIb

JIUIICH3UA

2. Read the text and translate in written form. |

The rotating elements are: true armature and the commutator. They are on
the same shaft. The armature consists of the core and the winding. The winding is
connected to the commutator. With the help of the brushes on the commutator that
conduct the electric current to the line the winding is connected to the external
circuit.

The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
c. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating'e. m. f. so that it is always of the same polarity. A generator is an
electric machine, which converts mechanical energy into electric energy. There
are direct-current (d. c.) generators and alternating current (a. c.) generators. Their
construction is much alike. A d. c. generator consists of stationary and rotating
elements. There are two types of dynamos — the generator and the alternator. The
former supplies d. c. which is similar to the current from a battery and the latter
provides a. ¢. To generate electricity both of them must be continuously provided
with energy from some outside source of mechanical energy such as steam
engines, steam turbines or water turbines. The powerful, highly efficient
generators and alternators that are in use today operate on the same principle as
the dynamo invented by the great English scientist Faraday. Dynamo-electric
machines are used to supply light, heat and power on a large scale. These are the
machines that produce more than 99.99 per cent of all the world's electric power.

The stationary elements are: the yoke or the frame and the field structure.
The yoke forms the closed circuit for the magnetic flux. The function of the
magnetic structure is to produce the magnetic field.

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

DJIEKTPUUECKUUN TOK

HHU3Kasa EMKOCTb

J(Ba TUIIA\BUIa

BPAIAOIIUECS DJIEMEHTBI

CTaTop

CTallMOHAPHBIN AJIEMEHT

MOIODHOCTD
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pa3HUIA MEXTY

re€HepaTopPbl

4. Guess the meaning of the following international words and translate
them.

Electroscope - ...
Electrolytic -...
Metallic -...
System -...
Generator-...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences H\0O)

1. D.'c. generators are used for electrolytic processes such as
electroplating.

2. The rotating elements are: true armature and the commutator.

3. A generator is an electric machine.

4. It also finds rather extensive use in connection with each
system.

5. There are two types of dynamos.

6. Answer the questions:

1) What does the armature consist of?

2) What do you know about the commutator?

3) What types of dynamos do you know?

4) What type of a machine is the generator?

5) What are dynamo-electric machines used t0?

Bapuanr 8

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

Ciy>XUTh B apMUH

IPEJTI0KEHUS

0000111eHNE CBEICHUIT

JTOKYMEHT

UHTEPECHI

PEKOMEHIAIUU

3apaboTaTh MHOTO JICHET

noaxosiias padbora
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2. Read the text and translate in written form. |

The stator of the induction motor has practically the same slot and winding
arrangement as the alternator and has the coils arranged to form a definite number
of poles, the number of poles being a determining factor in connection with the
speed at which the motor will operate. The rotor construction, however, is entirely
different.

The squirrel-cage rotor is a simpler form and has been used in many machines.

Instead of coils the winding consists of heavy copper bars.
The wound-rotor type has a winding made up of well-insulated coils, mounted in
groups whose end connections are brought out to fill in rings. The purpose of this
winding is to provide for variation in the amount of resistance included in the
rotor circuit.

Provision for ventilation is made by leaving passageways through the core and
frame, through which air is forced by fan vanes mounted on the rotor. In main
cases the motors now built in as an integral part of the machine it is to drive.

There being no electrical connection between the rotor circuits of the induction
motor and the stator circuits, or supply line, the currents which flow in the rotor
bars or windings correspond to the induced voltages, the action being similar to
that of a transformer with a movable secondary. With more than one set of
windings two for a two-phase motor, three for a three-phase motor a resultant field
Is produced which has the effect of cutting across the rotor conductors and induces
voltages in them. This field is considered to be revolving at uniform speed.

The term “revolving field” should not be taken to mean actual revolution of
flux lines. The magnetic field from the coils of each phase varies in strength with
changes in current value but does not move around the stator. The revolutions are
those of the resultant of the three, or two, phases, as the case may be.

A motor with a single-phase winding is not self-starting but must be provided
with an auxiliary device of some kind to enable the motor to develop a starting
torque. The effect of the revolving field is the same as would result from actual
revolution of a stator having direct-current poles. As voltages have been induced
in the bars or windings of the rotor, currants start flowing as a result of these
voltages, and a torque is produced which brings the motor up to speed. An
induction motor like any other motor consists of a stationary part, the stator, and a
rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
conductors are the result of voltage induced in the rotor in the magnetic field set
up by the stator. The rotor is fitted with a set of conductors in which currants flow.
As these conductors lie in the magnetic field produced by the stator, a force is
exerted on the conductors and the rotor begins to revolve. The operation of the
motor depends upon the production of a rotating magnetic field. The induction
motor is the simplest of the various types of electric motors and it has found more
extensive application in industry than any other type. It is made in two forms — the
squirrel cage and the wound rotor, the difference being in the construction of the
rotor.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.
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Russian English

daxrop

CTallMOHAapHas 4aCTb

otnenbHas ¢asa

VHIYKIAOHHBIA MOTOP

MOTOP

pa3BUBATH

MAarauTHOC I10JI€

HaIPSKEHNE

YCKOPEHUE

4. Guess the meaning of the following international words and translate

them.

Motor - ...
Voltage -...
Actual -...
System -...
Electrolytic -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences

WG]

1. The wound-rotor type has a winding made up of well-
insulated coils, mounted in groups whose end connections are
brought out to fill in rings.

2. The rotor of an induction motor is.not connected electrically
to the source of power supply.

3. An induction motor like any other motor consists of a
stationary part, the stator, and a rotating part, the rotor.

4. The operation of the motor does not depend upon the
production of a rotating magnetic field.

5. The effect of the revolving field is the same as would result
from actual revolution of a stator having direct-current poles.

6. Answer the questions:

1) What does the motor operation depend on??

2) Is the rotor fitted with a set of conductors in which currants flow?

3) How can the difference between stator and rotor construction be explained?

4) What are the names of its rotating and stationary parts?

5) What does the term “revolving field” mean?

Bapuant 9

1. Translate into English. Make five sentences using the translated
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collocation and any of the modal verbs (can\must\may\need).

Russian English

Pabouee Bpems

MIPETEHI0BATh HA... (paboTy)

KOIIMA CBUACTCIIBCTBA

3as4BJICHHUC-aHKETA

oTO0Op paboTHHKA

I'paMOTHO ITHCATb

paboTaTh aKKypaTHO

TPYAOBOM CTaX

2. Read the text and translate in written form. |

The squirrel-cage rotor is a simpler form and has been used in many

machines.

Instead of coils the winding consists of heavy copper bars.

The wound-rotor type has a winding made up of well-insulated coils, mounted in
groups whose end connections are brought out to fill in rings. The purpose of this
winding is to provide for variation in the amount of resistance included in the
rotor circuit. The stator of the induction motor has practically the same slot and
winding arrangement as the alternator and has the coils arranged to form a definite
number of poles, the number of poles being a determining factor in connection
with the speed at which the motor will operate. The rotor construction, however, is
entirely different.

There being no electrical connection between the rotor circuits of the induction

motor and the stator circuits, or supply line, the currents which flow in the rotor
bars or windings correspond to the induced voltages, the action being similar to
that of a transformer with a movable secondary. With more than one set of
windings two for a two-phase motor, three for a three-phase motor a resultant field
is produced which has the effect of cutting across the rotor conductors and induces
voltages in them. This field is considered to be revolving at uniform speed.
The term “revolving field” should not be taken to mean actual revolution of flux
lines. The magnetic field from the coils of each phase varies in strength with
changes in current value but does not move around the stator. The revolutions are
those of the resultant of the three, or two, phases, as the case may be.

Provision for ventilation is made by leaving passageways through the core
and frame, through which air is forced by fan vanes mounted on the rotor. In main
cases the motors now built in as an integral part of the machine it is to drive.

A motor with a single-phase winding is not self-starting but must be
provided with an auxiliary device of some kind to enable the motor to develop a
starting torque. The effect of the revolving field is the same as would result from
actual revolution of a stator having direct-current poles. As voltages have been
induced in the bars or windings of the rotor, currants start flowing as a result of
these voltages, and a torque is produced which brings the motor up to speed. An
induction motor like any other motor consists of a stationary part, the stator, and a
rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
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conductors are the result of voltage induced in the rotor in the magnetic field set
up by the stator. The rotor is fitted with a set of conductors in which currants flow.

The operation of the motor depends upon the production of a rotating
magnetic field. The induction motor is the simplest of the various types of electric
motors and it has found more extensive application in industry than any other
type. It is made in two forms — the squirrel cage and the wound rotor, the

difference being in the construction of the rotor.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

daxrop

otnensHas daza

MarduTHOC I10JIC

PIHI[yKL[PIOHHBIﬁ MOTOD

MOTOD

pa3BUBATH

CTallMOHApHAA 9aCTb

HaIIPsAOKCHUC

YCKOpPEHHE

them.

4. Guess the meaning of the following international words and translate

Actual - ...
Voltage -...
Motor -...
Electrometer -...
Electrolytic -...
System -...

5. Say whether these sentences are true (+) or false (-):

sentences

(H\0)

1. The rotor of an induction motor is not connected electrically
to the source of power supply.

2. The wound-rotor type has a winding made up of well-
insulated coils.

3. The operation of the motor does not depend upon the
production of a rotating magnetic field.

4. An induction motor like any other motor consists of a
stationary part, the stator, and a rotating part.

5. The effect of the revolving field is the same as would result
from actual revolution of a stator having direct-current poles.

| 6. Answer the questions:
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1) What does the term “revolving field” mean?

2) Is the rotor fitted with a set of conductors in which currants flow?

3) How can the difference between stator and rotor construction be explained?

4) What are the names of its rotating and stationary parts?

5) What does the motor operation depend on?

BapuanT 10

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

JlononHutenbHas nHGopManus

orara

00bsIBJICHHUS O IpUEME Ha paboTy

PCKOMCHOAIHA

ciryk0a Tpy10yCTpoicTBa

MCAUIIMHCKOC O6CH€}IOB&HI/I€

pazpelieHue Ha paboty

JINYHBIA JTUCTOK

2. Read the text and translate in written form. |

The electro-magnetic effect of the current is the one chiefly made use of for
measuring purposes. Moving iron instruments employ this effect.

The moving- iron instrument consists of a fixed coil of wire carrying the
current which magnetizes a small piece of soft iron mounted on the instrument
spindle. In construction there are two varieties: the repulsion type having two
pieces of iron; and the attraction type having only one.

In the attraction type of the instrument the bobbin carrying the wire is
oblong instead of circular, and has only a narrow slot-shaped opening in the
center. Ammeters and voltmeters are made to operate on the same principle. The
two principle kinds are the moving coil and moving iron types.

A thin flat piece of iron, which is mounted on the instrument spindle, is
sucked into this opening by magnetic attraction when the current flows. Either
gravity or spring control can be used on moving-iron instruments and damping is
usually by means of an air-dash-pot.

When a current flows through the coil of a moving-coil type ammeter, it
becomes a magnet, one face being of north, and the other of south polarity.
Moving-coil instruments are more accurate and sensitive, but more expensive than
those of moving-iron types.

These poles are attracted by the poles of opposite polarity of the permanent
magnet, and the coil tends to turn until its axis is parallel with the line joining the
pole pieces of the permanent magnet. This movement is proportional to the
current flowing and is opposed by the control springs.
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A pointer fixed to the coils moves over a graduated scale and indicates the
current flowing in amperes. The scale of this type of instrument is evenly divided,
but the positive terminal must be connected to the positive terminal of the supply
or the instrument tends to read backward.

Such an instrument is only suitable for d. c. circuits. A moving-coil
instrument may be compared to a miniature direct-current motor in which the
armature never moves more than about a quarter of a revolution.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

TI/IH\paSHOBI/II[HOCTB

MOAXOAUTH JJISI

3JIEKTPUYECKUN TOK

MaJICHbKUI KYCOYCK

TOoT %€ TPUHIUII

MOCTOSTHHBIU

IMOJIAPHOCTH

UHCTPYMEHT

)Kese30\ Kee3HbIN

4. Guess the meaning of the following international words and translate
them.

Type - ...
Permanent -...
Fixed -...
Electrometer -...
Indicate -...
Energy -...

5. Say whether these sentences are true (+) or false (-):

sentences B\

1. Moving-coil instruments are more accurate and sensitive.

2. This movement is proportional to the current flowing and is
opposed by the control springs.

3. In the attraction type of the instrument the bobbin carrying the
wire is not oblong instead of circular.

4. A pointer fixed to the coils moves over a graduated scale and
indicates the current flowing in amperes.

5. A moving-coil instrument may not be compared to a
miniature direct-current motor.

6. Answer the questions:

1) What instruments are more expensive and sensitive: moving coil or moving
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iron instruments?

2) What instrument is suitable only for d.c.?

3) What are the two types of moving iron instrument?

4) How does a moving coil instrument work?

5) What is the construction of a moving iron instrument?
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